
аа – 
гомозигота по 

доминанту

Аа - 
гетерозигота

I закон 
Менделя –это 

закон 
доминирования 

В атомах 
элементов III 
периода три 

уровня

Фенотип 
определяет 

генотип

     -  символ 
женского 
организма

Р – это символ 
скрещивания

F1 – первое 
поколение 
гибридов

Доминантный 
признак подавляется 

рецессивным

Отличие в двух 
парах признаков 
– моногибридное 

скрещивание

Гамета – половая 
клетка

Аллели – это 
разные состояния 

одного гена

Горох – строгий 
самоопылитель в 

природе

Щелочные 
металлы 

расположены в I  
группе главной 

подгруппы

Объект опытов 
Менделя - 

горох

Аллель – это 
рецессивная 
гомозигота

Финиш
Молодец!

Начать

Да Нет Да Нет

Да Нет Да Нет

Да Нет

Да Нет

Да Нет

Да Нет

Да Нет

Да Нет

Да Нет Да Нет

Да Нет Да Нет
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